Maulana Azad National Urdu University
M.Com. Il Semester Examination, January 2021
Paper : MMCM302CCT : Corporate Tax, Planning & Management
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Particulars Plan A Plan B
Sale 200000 2000000
Variable Cost (70%) 1400000 1400000
Depreciation 100000 50000
Fixed Cost 200000 200000
Interest on Debentures 50000 100000
Interest on Loan 75000 -
Rate of Tax 35% 35%
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2)
3)
4)
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6)

Equity (20% Dividend) = 60% or 50% or 40%

Tax Rates 35%, 30% and 35% for the next 3 years

12%

Average Cost of Debt
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Profit from business after deduction of donation = 400000
Donation to political party = 50000
Interest on Govt securities = 20000
Dividend from domestic company = 60000
LTC G = 100000
Book profit U/S 115 JB = 10,00,000
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